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SECTION BA

1. The mass m in kilograms of a bronze statue varies directly as its volume V'in cubic
centimeters. If a statue made from 1000 cm? of bronze has a s of 8.7 kg, what is
the mass of a statue made from 4500 cm® of bronze? l’l]ﬂi/

2. The time tin hours needed to clean the rides at an a.musernent park varies inversely
with the number of workers n. If 6 workers can clean the rides in 6 hours, how many

hours will it take 10 workers to clean the rides? 3 {p Ih DA VJ
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Multiplying and Dividing Rational Expressions

Simplify. Identify any x-values forwhlchtheexpraslon is undefined. -—(X—v Lé’) ~
ﬁ qu /2' Lﬁ & x2-2x-3 ?_(_3 X - % _:_.\i —-' X#' 3
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Multiply or divide. Assumethatallexpmsinnsaredeﬁned
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& EE3] Adding and Subtracting Rational Expressions

r subtract. Identify any x-values furwiﬂchthee?msloni ed
d-‘-? x:ﬁ I+2 I+5 10. X° =X + {KFB) iy 1
-2 x-2 x-2 x?-25 x+{ (X- "x—-3 x+3
12. A plane’s average speed when flying from one city er is 550 mi/h and is

430 mi/h on the return flight. To the nearest mile per hour, what is the plane’s
average speed for the entire trip? ug/g m.‘/ l’l r

(X+2)

R-2 Rational Functions
Using the graph of f(x) = 1 as a guide, describe the transformations and graph

each function.
nix/ -ﬁ) L4
13. g{x}=ﬁ LHA ql/\:l' 14. gx) = +1+z IESIJIH Ay
entify the zeros and of function. Then h.
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258 Solving Rational Equations and Inequalities
Solve each equation. NoO j@‘.b’l’h orn
17. y-L=3 s 18, X -2k 19, =3 ”xtlj _1&
{

20. A restaurant has two pastry ovens. When both ovens are used, it takes about 3 hours

to bake the bread needed for one day. When only the large oven is used, it takes about
4 hours to bake the bread for one day. Approximately how long would it take to bake
the bread for one day if only the small oven were used?
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Sec. 8.1- 8.5 Rational Functions Period: 3 7 Date: 5/8/17
81  The number of tiles n needed to cover a floor A=K N, 3-'{ = l/ d rv
varies directly as the area a of the floor, and
n = 180 when a = 20 ft2. Find n when a = 34 ft> QO K[ W) 30“9 =
K=Y
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+26=15 _ x*9 X“L { )
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f(x) = 5—"—
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[ Holes:
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Zeros:
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